
Solve the Equations

Name _______________________________ Class ___________________ Date ____________

Round your answers to the nearest hundredth if needed.

-9 + 2(1 - 6m) = 40 27 = 6(6r + 7)

6(-8o - 9) = -7 - 9o -4(1n - 3) = -29

-5j - 2j = -17 -1h - 4 + 5h = -8

-26 = -4w - 7w 30 - 9k = -8(9k + 3)

1u + 7 - 1 = -47 44 = 2 - 3(v + 7)

Math

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com

Please               or                 to   download

the printable version of this worksheet

Sign In Sign Up

https://NewPathWorksheets.com/#login
https://NewPathWorksheets.com/membership


Solve the Equations - Answer Key

Name _______________________________ Class ___________________ Date ____________

Round your answers to the nearest hundredth if needed.

-9 + 2(1 - 6m) = 40

m = -3.92

27 = 6(6r + 7)

r = -0.42

6(-8o - 9) = -7 - 9o

o = -1.21

-4(1n - 3) = -29

n = 10.25

-5j - 2j = -17

j = 2.43

-1h - 4 + 5h = -8

h = -1.00

-26 = -4w - 7w

w = 2.36

30 - 9k = -8(9k + 3)

k = -0.86

1u + 7 - 1 = -47

u = -53.00

44 = 2 - 3(v + 7)

v = -21.00
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